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" Chapter 2 Test, Form 2C SCORE

For Questions 1-8, solve each equation.

=
D
4. -7b = —35 4.
- -—E— 5o
5. 31 6
--.5_ E—JNEY L]
6. g 9 6
2 __p
7.3 155 7.
8. -3a+4=-14 8.
9. Translate the following sentence into an equation. 9.
A number x subtracted from 36 is three times the sum of
four and x.
10. Translate the following equation into a verbal sentence. 10.

e+y)=2y—x

g For Questions 11 and 12, write an equation for each problem.
£ Then solve the equation.

§ 11. What number decreased by 3.5 equals 12.7? 11.
-

‘ 12. Twelve is added to the product of a number and 5. 12.
é The result is —3. Find the number.

13. Julie cashed a paycheck and repaid her brother $10 that 13.
she had borrowed from him. She then spent $30 on fuel for
her car and half of the remaining money on a new tent for
camping. She bought a pair of running shoes for $29.45 and

McGraw-Hill, a divish

] had $17.75 left. How much did Julie receive when she
‘% cashed her paycheck?
14. Use cross products to determine whether the pair of 14.

ratios % and —;% form a proportion. Write yes or no.
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2 Chapter 2 Test, Form 2C (cbntinued)

15. Solve the proportion

PERIOD

£_2

£ 5 15.
16. Solve the proportion -%25— = _1_b§ 16.
For Questions 17-19, solvé each equation.
17. ~x+4=x+6 17.
18. 6n+7=Tn + 1) - 2n 18.
19. -4p+2)+8=2p-1)-Tp + 15 19.
20. Solve %x —c¢ =0 for x. 20.
22. A shirt costs $12.00. If the sales tax is 7%, find the 22.

total cost.
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) %6 3 @ -4 (pra)+B=al(p-N - 1pn5S
> \9\ -Hp-D+tD *gp -1 1S
@%, L= Hp==0p-g=13
- = ; 9y
x= ¥ [a—_') “Hp=-5p+I3
G, O + -5y
Q7o = 13b _
r“;\ " Solve %X Ci=D for X
83,5 =b| e +C
@ —d=x+ —
4 x==
"'X :X%——a = T
X=X N
aBX T2 = L.
a3 7R " "C\' i
X=—1] Xx=C.,b
_ A~ | T°
@5h*7=7(h”\)'9\h X = C\o - |
Sn+7=1N+1-an \ = 1
6r\jj)]=5nj-]“} \é\+<o‘oj°;13
) [ —
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